Nalm\®

Ryl

AR SEEH

CBTREH

For servo motor

CBT REDUCER

BL-A series




ST

33"35 Features

SHEE

B MAKAS . RALAEHE

High precision

Standard backlash is 5 arc-min, ideal for precision
control.

St SHE

12 R R BRI, KRG T AlEF
H4E

High rigidity & forque

Using whole deep groove ball bearing, it greatly
improves the rigidity and Torque.

EiEss WEDI

VAR B R AT — &2 i b

Adapter-bushing connection

Can be attached to any motor all over the world.

R EE N
120 SFEE . R okt MR, ARk
R RE R

No grease leakage

Perfect solution by high viscosity anti-separation
grease.

TEETTIE

Maintenance-free

No need to replace the grease for the life time.

)
=
-
z?ék
[
&
=
n
o
X
=

sauas -19g 499npay | g9

FEERZGHRNEE FHERNE, ZF AR,

Can be attached in any position.

http://www.cbtgear.com.tw m




B I. = A series

tra . BUSRACHR

Model Number

199

[’
N

B
2
)
T
=
e
=

Salas -4g 192npay 149

BLO60A —— L1 S 10 - D1 - S7 - Y
A X
BLO60A A K
BLO90A D1(h 71 3 A %)
D2( A1 & )
BL120A
Bigz R AR/ 5 Bk
BL150A .
Biey g, BR
BL180OA .
L1 (—& )
L2 (=& )
L3 (=& )
PN S = T2 = Bk gt = ik Ho gk
Siciﬁcations Single Stage Ratio(L1) Double Stage Ratio(L2) Triple Stage Ratio(L3)
BLO60A 3,4,57,10 12, 15, 16, 20, 25, 30, 35, 40, 50, 70, 100 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BLO90A 3,4,5,7,10 12, 15, 16, 20, 25, 30, 35, 40, 50, 70, 100 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BL120A 3,4,57,10 12, 15, 16, 20, 25, 30, 35, 40, 50, 70, 100 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BL150A 3,4,5 7,10 12, 15, 16, 20, 25, 30, 35, 40, 50, 70, 100 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000
BL180A 3,4,5 7,10 12,15, 16, 20, 25, 30, 35, 40, 50, 70, 100 120, 150, 160, 200, 250, 300, 350, 400, 500, 700, 1000

w http://www.cbtgear.com.tw




A series

tRE—%

Performance table

BLO60A

R Ratio 314 |5 | 7[10[12|15 |16 |20 | 25|30 |35 |40 | 50 [ 70 {100
FEE ML HE Ty Nominal Output Torque Tan Nm 45 | 50 | 60 | 50 | 40 | 45 | 45 | 50 |50 | 60 | 40 | 50 |40 | 40 | 40 | 40
RREE Tonor Emergency Stop Torque T axor Nm RIE=2 el antieg
ZBEWMAEE nyy Nominal input Speed nyy rpm 3000
FaMAER N Maximum input Speed nys rpm 6000
HERIE Torsional Rigidity Nm/arcmin 7
BHEQE Fus Permitted radial load Fs N 1530
BErEEIEE Fu Permitted axdial load Fy N 630
FAS®H Service Life hr 20000 (EEEEZHHE)

BSE Noise dB <65 (EAEE=3000rpm, 2%, PEE1m)
ERRE Operating Temp °C -10 ~ +90°C
FrEE SR Degree of Gearbox Protection IP65
hehi=] Lubrication SREBHE (REHB)
HEHEE ), Mass Moments of inertia J; kgem? | 0.18 ‘ 0.14‘ 0.13 ‘ 0.13 ‘ 0.13]0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.13 ‘ 0.03 ‘ 0.03
g8 Weight Kg 1.32 1.65
BEER Standard Backlash arcmin <5 <8
WA n Efficiency n % 297% 294%
BL0O90A

R Ratio 314 |5 | 7[10[12|15 |16 |20 | 25|30 |35 |40 | 50 | 70 |100
ZATEMLHRFE Ton Nominal Output Torque Tan Nm 130 | 140|160 | 140|100 | 130 (130 | 140 | 140|160 | 100 | 140|100 | 100 | 100 | 100
=SB Tonor Emergency Stop Torque T anor Nm RIYChnad lanting
HEWMAER n Nominal input Speed n;y rpm 3000
REMAER N, Maximum input Speed ny; rpm 6000
HERIE Torsional Rigidity Nm/arcmin 14
BHEEAET Foe Permitted radial load F,g N 3250
BEFMEARE Foe Permitted axdial load Fas N 1300
fERsm Service Life hr 20000 (EEEESHRE)

RSB Noise dB <65 (#AER=3000rpm, Z=&, FExE1m)

FRRE Operating Temp °C -10 ~+90°C

PrEESFR Degree of Gearbox Protection IP65

beh= Lubrication BREBHE (REE8)

HEHEE ), Mass Moments of inertia J; kgem? | 0.61 ‘ 048 ‘ 047 ‘ 0.45 ‘0.44 047 ‘ 047|047 ‘ 047 ‘ 047 ‘ 047 ‘ 047 ‘ 047 ‘ 044 ‘ 0.13 ‘ 0.13
58 Weight Kg 4 52

EEER Standard Backlash arcmin <5 <8

WA 7 Efficiency n % 297% 294%

http://www.cbtgear.com.tw {E}

199

&
=
n
o
ol
b

sauas |J-19 429npay 149




199

E
o
2
o
ol
=

salias |f-14 499npay 149

BL-A series

tRe—%

Performance table

BL120A

R Ratio 3|14 |5 711012 |15 |16 |20 | 25 | 30 | 35 | 40 | 50 | 70 {100
ZATE B Ton Nominal Output Torque Tan Nm 235|290 330| 300|230 235| 235| 290|290 | 330|230 | 300| 230 | 230| 230 230
RSB Tonor Emergency Stop Torque T anor Nm IS LEE LB
LBEMAER nyy Nominal input Speed nay rpm 3000
RaRAEE n; Maximum input Speed Ny rpm 6000
HERIE Torsional Rigidity Nm/arcmin 25
BHEARH Foe Permitted radial load F,q N 6700
BEHAE Fas Permitted axdial load Fys N 3000
ERED Service Life hr 20000 (GEEEESHERL)
RE1E Noise dB <65 (IAER=3000rpm. Ze#. IEEE1m)
ERRE Operating Temp °C -10 ~ +90°C
PrEEER Degree of Gearbox Protection P65
feope) Lubrication GREBEDE (REEB)
WENRE ) Mass Moments of nertia J, | kgem? |3.25|274| 271|265 | 257 | 257 | 257 | 257 | 257 | 257 | 257 | 257 | 257 | 257 0.4 |o.44
g8 Weight Kg 8.6 11.2
EEEE Standard Backlash arcmin <5 <8
WA n Efficiency n % 297% 294%

BL150A

R Ratio 31415 711012 |15 |16 | 20 | 25| 30| 35| 40 | 50 | 70 [100
ZATE B Ton Nominal Output Torque Tax Nm | 420| 542| 650| 550| 450| 420 | 420 | 542 | 542 | 650 | 420 | 550 | 450 | 450| 450 | 450
RISHEE Tonor Emergency Stop Torque T anor Nm 3fLRE R RS
ZAEMAER niy Nominal input Speed n;y rpm 3000
REMAEE npg Maximum input Speed ny rpm 6000
HERIE Torsional Rigidity Nm/arcmin 50
BHEAEE Fus Permitted radial load F,;5 N 9400
BEFEASTE Fore Permitted axdial load Fyg N 4700
fEmSGn Service Life hr 20000 (EEEHSDAS)
REE Noise d8 <65 (A EE=3000rpm, Z2&. FEHE1M)
ERRE Operating Temp C -10 ~+90°C
VaEE=2 e Degree of Gearbox Protection IP65
bk} Lubrication GREEDE (REEB)
EEZE ), Mass Moments of inertia J; kg-cm? | 9.21 ‘ 7.54‘ 7.42‘ 7.14‘ 7.03 7.03‘ 7.03‘ 7.03 ‘7.03 7.03|7.03 ‘7.03 ‘2.57 ‘2.57 ‘2.57 ‘2.57
g8 Weight Kg 15.2 19.6
BESR Standard Backlash arcmin <5 <8
B 1 Efficiency n % 297% 294%

ﬂ} http://www.cbtgear.com.tw




= 1FeE—E
B I- = A Serles » Performance table

BL 180A

R Ratio 3|4 |5 | 7|10|12 15|16 | 20| 25| 30 | 35 |40 | 50| 70 | 100
AR LRI Ton Nominal Output Torque Tan Nm 1790 |1050(1180{1000| 900 | 790 | 790 |1050{1050|1180| 790 {1000| 900 | 900 | 900 | 900
RIFHAE Tonor Emergency Stop Torque Tanor Nm Rl el faatiag o]
ZATEIMAER ny Nominal input Speed nyy rpm 2500
RSRAER n; Maximum input Speed ny; rpm 5000
HaEm% Torsional Rigidity Nm/arcmin 145
BHEQEE Fos Permitted radial load Fy; N 14500
BEHHEAEE Fae Permitted axdial load Fys N 7000
EzEE=rn] Service Life hr 20000 (EiEBESEHREY)
= E Noise dB <65 (IHAEE=1500rpm, =&, FEHE1mM)
FRRE Operating Temp °C -10 ~+90°C
PoEER Degree of Gearbox Protection P65
peh] Lubrication SREEHE (ReES)
WHIEE ), e N 28.98‘23.67‘23.29‘ 22.48‘22.51 22.51‘22.51 ‘22.51 2251 ‘22.51 ‘22.51 ‘22.51 ‘ 7.03 ‘ 7.03 ‘ 703 ‘ 7.03
88 Weight Kg 29.8 34.6 o
RESR Standard Backlash arcmin <5 <8 3
M= q Efficiency n % 297% 294% %

-
=
T
o
X
b

selias |j-19 492npay 1949

http://www.cbtgear.com.tw @




= Ry—%
BI--A 33"33 Size Schedule

@ BLOGOA-L1 ( —#%)

EtHim outputs H6X124.5

EI\I% Input

C7*C7

450 28 %97 S
3 /—
235 >\8(

©

N 55 == —¢ 14y -
e & - |
%,
4-M5x10 G5
c6
214 914
M5x0.8P ) M5x0.8P
(1) | | '
:_:1' / -] . \
> AR
el 16 12
=
IE Shaft Option 1(D1) Shaft Option 2(D2)
F B 45 . mm
:N :
\ai
= ek
Motor Mark

o
8 A R T S1 S2 S3 S4 S5 S6 S7 S8
= Input Size
§ XC1H) 8 8 11 14 14 14 14 6.35
[}
(1]
; XKC2 (H) 30 30 50 50 50 70 70 38.1
=
u’)’ XC3 45 46 70 70 70 90 90 66.7
@
2 XC4 M3 M4 M4 M4 M5 M5 M6 M4

XC5 3.5 35 6 6 6 6 6 3.5

XC6 32 32 32 32 32 40 40 32

XC7 60 60 60 60 60 80 80 60

e Note:

1 %E‘X R’J’Wf&j@%%g‘ e R 7 4 ’ 'ﬁﬂﬁ ,%.%_;%%% Z & 3. 1.“%” The size can be customized according to the actual size

of the motor. Please contact our company if necessary

e
2. %‘X P }%I{%kK?L, Fﬁ%%l%@éﬁjﬁ 8] K?Lé?\i]— Fit Igé’ﬂfw 2. “% % For maximum size, the mounting motors vary in size.

ﬂ} http://www.cbtgear.com.tw




= RY—8
BI--A Serles Size Schedule

@ BLOGOA-L2 ( —#% )

#iH#%  outputs

NG Input

%% 139 ey
450 28 X% 112 "
3 /
235
3 16 |
& _ N
] \ £ l—] 2 . | g g
§ g RS | | || & -
K M
® C5
4-M5x10 c6
#14 ®14
M5x0.8P M5x0.8P
HN g
‘ j - =
16 12 12 il
&
Shaft Option 1(D1) Shaft Option 2(D2) |E
B45: mm ;
: 2
Bzt =
R I | S2 s3 sS4 S5 S6 s7 s8 e
s R &
Input Size =)
XC1H) 8 8 11 14 14 14 14 6.35 §
[+
o
XC2 (H) 30 30 50 50 50 70 70 38.1 ;
-
XC3 45 46 70 70 70 90 90 66.7 f
o
XC4 M3 M4 M4 M4 M5 M5 M6 M4 2
XC5 3.5 3.5 6 6 6 6 6 3.5
xC6 32 32 32 32 32 40 40 32
XC7 60 60 60 60 60 80 80 60
E: Note:
R 2k ” 1.“%” The size can be customized according to the actual size
1. rrﬁ‘ x KTT{&;}[’% it =3 KT/}‘ '!1\:'7%‘ "R % ;ﬁ(‘ ‘;] of the motor. Please contact our company if necessary
2. "Fﬁ‘>< s F‘;I}ij'\)iﬂ" KE % %@ ,]Z: 5] Rﬁ—é\%‘ﬁﬁ 2. “%%”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw m




= Ry—%
BI--A 33"33 Size Schedule

@ BLO90A-L1 ( —#%)

#Hi% outputs IR Input

XX%162.5 C7*C7
450 41 X122 %
3
36.5
3 30 ’
~ & _ L
] o ) — 5 Tige
&
C5
4-M6x12 Cc6
| M8x1.25P_ M8x1.25P

()
ek
&
-]
I|- Shaft Option 1(D1) Shaft Option 2(D2)
=
g B45: mm
- Bities
& Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
-] 2l
g Input Size
§ XC1H) 11 14 14 14 16 16 19 19 22 24
? XC2 (H) 50 50 50 70 70 80 70 110 110 110
=
£ XC3 70 70 70 90 90 100 90 145 145 145
2
v XC4 M4 M4 M5 M6 M6 M6 M6 M8 M8 M8

XC5 3.5 3.5 3.5 6 6 6 6 10 10 10

XC6 32 32 32 45 45 45 45 60 60 60

XxC7 60 60 60 90 90 90 90 130 130 130

e Note:

. . . 1.%” The size can be customized according to the actual size
—aa— [ = Wbk = g
1. 'ﬁ?x Kﬁ_']_{&j}% E WT{R%’}‘% -!zuﬁ U A of the motor. Please contact our company if necessary

2. ’ﬂ?x P PJI?ide- Fﬁ'ﬁ?‘%{ EE? ié’JT\ F;] Tﬁ){féﬁﬁ l@é{bo 2. “% % For maximum size, the mounting motors vary in size.

w http://www.cbtgear.com.tw




= RY—8
BI--A 33"35 Size Schedule

@ BLO90A-1L2 ( —% )

EYIT)
#iHi% outputs B Input
X0%190 c7*c7
41 X150 %
3
36.5
@ =
3|, 30 |
~ _ il
S l—- 2 _ | Il glg =
SR © s
- H
. —off
e cs QC’ ca
4-M6x12 ce
20
M8x1.25P M8x1.25P

-
NSE

)
=
-
z?ék
[
-
=
n
o
X
=

16
Shaft Option 1(D1) Shaft Option 2(D2)
B3 mm
iR
Motor Mark =
i S1 S2 S3 S4 S5 S6 S7 S8 S9 S10 =
s RF =
Input Size &
XCL(H) 11 14 14 14 16 16 19 19 22 24 §
XC2 (H) 50 50 50 70 70 80 70 110 110 110 ?
=
XC3 70 70 70 90 90 100 90 145 145 145 o
3
XxC4 M4 M4 M5 M6 M6 M6 M6 M8 M8 M8 :
XC5 3.5 3.5 3.5 6 6 6 6 10 10 10
XC6 32 32 32 45 45 45 45 60 60 60
xC7 60 60 60 90 90 90 90 130 130 130
pE Note:
1 ’ﬂ?>< KTT@‘Q}% E‘ R+ %J im?ﬁ‘ ok A Lt 2 ;ﬁi‘ 3] 1 The size can be customized according to the actual size

of the motor. Please contact our company if necessary

2
2. 'ﬂ?>< X F’Jﬂik}{ﬁ- Fﬁ %t Ki ,JZ: Ig] ) Kﬁ-@.ﬁﬁﬁ e;é/“:v 2. “% % For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw m




BL-A series » el

@ BL120A-L1 ( —#%)

#@iH i outputs

I\ Input

X%191 C7*C7
450
55 XX136
4
49
5 40
= © - l !
n
g =1l g L lge
g g PN | ) | S &
P
4-M10x20
C5
(€
$25
M12x1.75P

M12x1.75P

a ng

)
®
-,
ﬁ"
[
E
©
o
7
ol
2

28
24
Shaft Option 1(D1) Shaft Option 2(D2)
B 45 mm

o Bigz g
= Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
) AT R~
g Input Size
§ XC1H) 16 16 19 19 19 22 22 22 24 28
? XC2 H) 70 80 70 95 110 95 110 110 110 110
=
§' *C3 90 100 90 115 145 115 130 145 145 145
®
: XC4 M6 M6 M6 M8 M8 M8 M8 @ M8 | M8 M8

XC5 6 6 6 8 8 8 8 8 8 8

*C6 52 52 52 62 62 62 62 62 62 62

XC7 90 90 90 130 130 130 130 130 130 130

E Note:

e . R 3 e 1.2 The size can be customized according to the actual size
L i Kfq{&;ﬂ%‘%é A PR @ ’ &DE R % 3}5@ A, of the motor. Please contact our company if necessary

T
2. '%%?X ¥ By I K R , Fﬁ‘k‘%%ééﬁ NG %Kﬂ‘@ﬁﬁﬁ' g1, 2. “% % For maximum size, the mounting motors vary in size.

w http://www.cbtgear.com.tw




BL-A series

@ BL120A-L2 ( —# )

#iH % outputs

Size

RY—%

Schedule

BN Input

04228 C7°C7
950
55 #0€173
4
49
\ — |
~ 5 40 ®
N A — ‘ T
S| —=2 - —T = — | -9 9 _
% PN A | l
o
ﬁ’»% ° ®
4-M10x20 ] =
cs < ca
c6
825
925
M12x1.75P
M12x1.75P
(1]
dY, B =]
28 \'/ B
24 &
Shaft Option 1(D1) Shaft Option 2(D2) 2
=
B f5. mm g
it -
o~ Moror Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10 =
Input Size &
XC1H) 16 16 19 19 19 22 22 22 24 28 §
XC2 (H) 70 80 70 95 110 95 110 110 110 110 ?
=
XC3 90 100 90 115 145 115 130 145 145 145 ﬁ_
o
XC4 M6 M6 M6 M8 M8 M8 M8 M8 M8 M8 :
XC5 6 6 6 8 8 8 8 8 8 8
XxC6 52 52 52 62 62 62 62 62 62 62
xC7 90 90 90 130 130 130 130 130 130 130
e Note:
1SR TRIEEETERFRH, W EREEHAK S 1.3 The size can be customized according to the actual size
LS YL R TR AT, I SRR AR o of the motor. Please contact our company if necessary
2. %“X P }%I?ij'\){ﬂ', %%%%@%I 5] iy Kﬂ" @ﬁﬁﬁ g1k, 2. “% % For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw ﬂ




= Ry—%
BI--A Sﬂrlﬂs Size Schedule

@ BL150A-L1 ( — )

#Hi% outputs B \if Input
#6%259 C7+C7
450
97 ¥0K162
12
82 7
\ |
5 65 ®
& E g P A | i ! | o~
i ° =
e\)y (o) o)
(%
4-M10x20 s =
Cc5 QC’ Cc4
c6
#40 540
M16x2.0P M16x2.0P
()
& e
ﬁ i Ll '
% 43 36
) )
r= Shaft Option 1(D1) Shaft Option 2(D2)
o
fl:" ¥45: mm
- BHigen
-] Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
S| wamRT
® Input Size
o
§ XCLH) 19 19 22 22 22 24 28 32 35 42
= XC2 (H) 95 110 95 110 110 110 110 130 1143 | 1143
=
£ XC3 115 145 115 130 145 145 145 165 200 200
=
’ XxC4 M8 M8 M8 M8 M8 M8 M8 M10 M12 M12
XC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 74 74 74 82 82 82
xC7 130 130 130 130 130 130 130 180 180 180
E. Note:

1 %‘X KTT’N&%%%?I&%R#E%'J , -ﬁu%‘ T 247, 1.4%%” The size can be customized according to the actual size
E's

of the motor. Please contact our company if necessary
2. %‘X X F‘inkﬁﬂ' , Fa %{»% e3P NG| 171’7){’]"43\75}5 g1k, 2. “% % For maximum size, the mounting motors vary in size.

ﬁ} http://www.cbtgear.com.tw




E RY—%
BI--A Serles Size Schedule

@ BL150A-L2 ( —# )

EtHif outputs BN Input
450 #%301 C7*c7
97 #0203
12
\ 82
‘\ 1 |
5 65
| Al
il = -8 +| I 8
s * 1
e\)y
(Z
4-M10x20 ]
- 135
cs
c6
#40 40
M16x2.0p M16x2.0P
' 1)
-]
e =
[
36 =
-]
Shaft Option 1(D1) Shaft Option 2(D2) '|-
e
B 5. mm g
BHiEnR ()
Motor Mark S1 S2 S3 S4 S5 S6 S7 S8 S9 S10 ]
#Asm R =
Input Size ®
o
XCLH) 19 19 22 22 22 24 28 32 35 42 §
XC2 (H) 95 110 95 110 110 110 110 130 114.3 114.3 ,E
=
XC3 115 145 115 130 145 145 145 165 200 200 E
3
XC4 M8 M8 M8 M8 M8 M8 M8 M10 M12 M12 “
XC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 74 74 74 82 82 82
XC7 130 130 130 130 130 130 130 180 180 180
E: Note:
b Ao T g, e, 2 . - 1.“%” The size can be customized according to the actual size
1. % K#T{Ré}%gﬂi B F%‘R’J‘&%‘J ’ ﬁU7FLJ_ %%“ﬁtﬂ% # %(‘ e of the motor. Please contact our company if necessary
2. %‘X P );Jﬂ%k){’j- , Fﬁ&?‘%‘% éé’];ﬁ 5] ‘ﬁRj—@%—ﬁﬁ' g1, 2. “% % For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw ﬁ}




= RY—8
BI--A Se"es Size Schedule

@ BL180A-L1 ( —#%)

#iHi% outputs B\ Input
¥0%316 77
5. 100 %216
15
82
]
\ 6 70 | ®
=l |
\\ g 2 t=a|i g -—+g ¢
¢ 8 ’ —
@ ®
e\)d;y
4-M12x24 16.5 =
C5 QC’ ca
c6
#55 55
M20x2.5P M20x2.5P
()
E e
8
& 59 "
IE Shaft Option 1(D1) Shaft Option 2(D2)
; B2 mm
i)
= B
Motor Mark
o S1 S2 S3 S4 S5 S6 S7 S8 S9 S10
= #irsh R+
= Input Size
§ XCLH) 22 22 24 28 32 35 42 38 42 55
(1]
o
; XC2 (H) 110 110 110 110 130 114.3 114.3 180 200 200
-
u:,’ XC3 130 145 145 145 165 200 200 215 235 235
@
) XC4 M8 | M8 M8 M8 | M10  MI2 | M12  MI12 | M12 MI2
XC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 82 82 82 117 117 117
xC7 130 130 130 130 180 180 180 225 225 225
E: Note:
3 2k - 1.2%” The size can be customized according to the actual size
1R TR BHETRRTEH, ok FRFAH A ;&‘ ‘;] of the motor. Please contact our company if necessary
2. "rﬁ‘>< b F'Jﬂi/ii){ﬂ-, [L %t 3% l]Z: 5]y Rﬁ-é’\;ﬁﬁ 2. “% % For maximum size, the mounting motors vary in size.

ﬁk http://www.cbtgear.com.tw




E R3—%
BI--A Serles Size Schedule

@ BL180A-L2 ( —# )

Bt outputs BN Input
%368 c7+c7
45e 100 #0%269
15
82
]
\ 6 70 |
SIS . |
T o e i i Y
9| ¢ ® i I
%
4-M12x24 16.5
s
c6
55 955
M20x2.5P M20x2.5P
rH L (1]
| B ‘
B A :
N m
59 ]
Shaft Option 1(D1) Shaft Option 2(D2) |E
s =
¥ A1 mm 34
o
5 ii?%&%’)f, -
Motor Mar S1 S2 S3 S4 S5 S6 S7 S8 S9 S10 (1)
s R &
Input Size -
XC1H) 22 22 24 28 32 35 42 38 42 55 §
[+
o
XC2 (H) 110 110 110 110 130 114.3 1143 180 200 200 ;
-
XxC3 130 145 145 145 165 200 200 215 235 235 f
o
XC4 M8 = M8 M8 M8  M10  M12  M12  M12 @ M12 = M12 ]
XC5 8 8 8 8 8 8 8 8 8 8
XC6 74 74 74 74 82 82 82 117 117 117
xC7 130 130 130 130 180 180 180 225 225 225
P Note:
3 &k . 1.4%%” The size can be customized according to the actual size
1. WX Rﬂ_/f{&%{: Hik TR PR F ] '!Uﬂ;]‘ EE S % ;ﬁ‘(‘ ;] of the motor. Please contact our company if necessary
2. WK BRRRT, MR BHENTE ﬁKTé’ﬁﬁ """" 2. “3%3¥”For maximum size, the mounting motors vary in size.

http://www.cbtgear.com.tw @






